# Simplifying coefficients in a family of nonlinear ordinary differential equations 

Feng Qi


#### Abstract

By virtue of the Faá di Bruno formula, properties of the Stirling numbers and the Bell polynomials of the second kind, the binomial inversion formula, and other techniques in combinatorial analysis, the author finds a simple, meaningful, and significant expression for coefficients in a family of nonlinear ordinary differential equations.


## 1. Motivation and main results

In [6. Theorem 2.1], it was established inductively and recursively that the function

$$
\begin{equation*}
F(t)=\frac{1}{e^{\ln (1+t)}-1} \tag{1}
\end{equation*}
$$

satisfies the family of differential functions

$$
\begin{equation*}
n!F^{n+1}(t)=(-1)^{n} \sum_{k=0}^{n} a_{k}(n)(1+t)^{k} F^{(k)}(t) \tag{2}
\end{equation*}
$$

for $n \in \mathbb{N}$, where $a_{0}(n)=n!, a_{n}(n)=1$, and

$$
\begin{equation*}
a_{k}(n)=\sum_{n_{1}=k-1}^{n-1} \sum_{n_{2}=k-2}^{n_{1}-1} \cdots \sum_{n_{k}=0}^{n_{k-1}-1} \frac{(n+k)!}{\prod_{\ell=1}^{k}\left(n_{\ell}+k-\ell+2\right)\left(n_{\ell}+k-\ell+1\right)} \tag{3}
\end{equation*}
$$

for $0<k<n$. Hereafter, the expression (3) was employed in the whole paper [6].

In this paper, since
(1) the original proof of [6, Theorem 2.1] is long and tedious,

[^0](2) the expression (3) is too complex to be remembered, understood, and computed easily,
we will supply a simple and standard proof for [6, Theorem 2.1] and, more importantly, find a simple, meaningful, and significant form for the quantities $a_{k}(n)$.

Our main results can be stated as the following theorem.
Theorem 1. For $n \in\{0\} \cup \mathbb{N}$, the function $F(t)$ defined by (11) satisfies

$$
\begin{equation*}
F^{(n)}(t)=(-1)^{n} \frac{n!}{(1+t)^{n}} \sum_{m=0}^{n}\binom{n}{m} F^{m+1}(t) \tag{4}
\end{equation*}
$$

and

$$
\begin{equation*}
F^{n+1}(t)=(-1)^{n} \sum_{m=0}^{n}\binom{n}{m} \frac{1}{m!}(1+t)^{m} F^{(m)}(t) \tag{5}
\end{equation*}
$$

## 2. Proof of Theorem 1

By virtue of the Faà di Bruno formula

$$
\frac{\mathrm{d}^{n}}{\mathrm{~d} t^{n}} f \circ h(t)=\sum_{k=0}^{n} f^{(k)}(h(t)) \mathrm{B}_{n, k}\left(h^{\prime}(t), h^{\prime \prime}(t), \ldots, h^{(n-k+1)}(t)\right)
$$

for $n \geq 0$, where the Bell polynomials of the second kind $\mathrm{B}_{n, k}\left(x_{1}, \ldots, x_{n-k+1}\right)$ for $n \geq k \geq 0$ are defined [2, p. 134, Theorem A] and [2, p. 139, Theorem C] by

$$
\mathrm{B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)=\sum_{\substack{1 \leq i \leq n, \ell_{i} \in\{0\} \cup \mathbb{N} \\ \sum_{i=1}^{n}, \ell_{i}=n \\ \sum_{i=1}^{n} \ell_{i}=k}} \frac{n!}{\prod_{i=1}^{n-k+1} \ell_{i}!} \prod_{i=1}^{n-k+1}\left(\frac{x_{i}}{i!}\right)^{\ell_{i}}
$$

we obtain

$$
F^{(n)}(t)=\sum_{k=0}^{n} \frac{\mathrm{~d}^{k}}{\mathrm{~d} u^{k}}\left(\frac{1}{e^{u}-1}\right) \mathrm{B}_{n, k}\left(\frac{1}{1+t},-\frac{1}{(1+t)^{2}}, \ldots, \frac{(-1)^{n-k}(n-k)!}{(1+t)^{n-k+1}}\right)
$$

where $u=u(t)=\ln (1+t)$. In view of two identities

$$
\mathrm{B}_{n, k}\left(a b x_{1}, a b^{2} x_{2}, \ldots, a b^{n-k+1} x_{n-k+1}\right)=a^{k} b^{n} \mathrm{~B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)
$$

and

$$
\mathrm{B}_{n, k}(0!, 1!, 2!, \ldots,(n-k)!)=(-1)^{n-k} s(n, k)
$$

in [2, p. 135], where $a$ and $b$ are any complex numbers and $s(n, k)$ stands for the Stirling number of the first kind, we have

$$
F^{(n)}(t)=\sum_{k=0}^{n} \frac{\mathrm{~d}^{k}}{\mathrm{~d} u^{k}}\left(\frac{1}{e^{u}-1}\right)\left(\frac{1}{1+t}\right)^{n}(-1)^{n+k} \mathrm{~B}_{n, k}(0!, 1!, \ldots,(n-k)!)
$$

$$
=\frac{1}{(1+t)^{n}} \sum_{k=0}^{n} \frac{\mathrm{~d}^{k}}{\mathrm{~d} u^{k}}\left(\frac{1}{e^{u}-1}\right) s(n, k) .
$$

From [4, Theorem 2.1], [9, Theorems 3.1 and 3.2], and [10, Lemma 2.1], it follows that

$$
\frac{\mathrm{d}^{k}}{\mathrm{~d} t^{k}}\left(\frac{1}{e^{t}-1}\right)=(-1)^{k} \sum_{m=1}^{k+1}(m-1)!S(k+1, m)\left(\frac{1}{e^{t}-1}\right)^{m}, \quad k \geq 0
$$

where $S(n, k)$ stands for the Stirling number of the second kind. Therefore, we acquire

$$
\begin{aligned}
F^{(n)}(t) & =\frac{1}{(1+t)^{n}} \sum_{k=0}^{n}(-1)^{k}\left[\sum_{m=1}^{k+1}(m-1)!S(k+1, m)\left(\frac{1}{e^{u}-1}\right)^{m}\right] s(n, k) \\
& =\frac{1}{(1+t)^{n}} \sum_{m=1}^{n+1}\left[\sum_{k=m-1}^{n}(-1)^{k} s(n, k) S(k+1, m)\right](m-1)!\left(\frac{1}{e^{u}-1}\right)^{m} \\
& =\frac{1}{(1+t)^{n}} \sum_{m=0}^{n}\left[\sum_{k=m}^{n}(-1)^{k} s(n, k) S(k+1, m+1)\right] m!\left(\frac{1}{e^{u}-1}\right)^{m+1} \\
& =\frac{1}{(1+t)^{n}} \sum_{m=0}^{n}\left[\sum_{k=m}^{n}(-1)^{k} s(n, k) S(k+1, m+1)\right] m!F^{m+1}(t) .
\end{aligned}
$$

Since

$$
S(n+1, k)=k S(n, k)+S(n, k-1), \quad 0 \leq k-1 \leq n
$$

see [8, p. 114, Eq. (9.1)], we have

$$
\begin{aligned}
& \sum_{k=m}^{n}(-1)^{k} s(n, k) S(k+1, m+1) \\
& \quad=(m+1) \sum_{k=m}^{n}(-1)^{k} s(n, k) S(k, m+1)+\sum_{k=m}^{n}(-1)^{k} s(n, k) S(k, m)
\end{aligned}
$$

Further utilizing the formula

$$
\sum_{k=m}^{n}(-1)^{k} s(n, k) S(k, m)=(-1)^{n} L(n, m)
$$

in [1, pp. 304-305, Remark 8.6] and simplifying yield

$$
\sum_{k=m}^{n}(-1)^{k} s(n, k) S(k+1, m+1)=(-1)^{n}[(m+1) L(n, m+1)+L(n, m)]
$$

where $L(n, k)$ stands for the Lah number which can be defined [5] by

$$
L(n, k)=\frac{(n-1)!}{(k-1)!}\binom{n}{k}
$$

with the conventions $L(0,0)=1, L(n, 0)=0$ if $n \geq 1$, and $L(n, k)=0$ if $k>n$. Consequently, it follows that

$$
F^{(n)}(t)=\frac{(-1)^{n}}{(1+t)^{n}} \sum_{m=0}^{n}[(m+1) L(n, m+1)+L(n, m)] m!F^{m+1}(t) .
$$

Making use of

$$
L(n, k+1)=\frac{n-k}{k(k+1)} L(n, k)
$$

reveals

$$
[(m+1) L(n, m+1)+L(n, m)] m!=(m-1)!n L(n, m)=n!\binom{n}{m}
$$

Accordingly, we obtain the equality (4).
The formula (5.48) in [3, p. 192] reads that

$$
g(k)=\sum_{\ell=0}^{k}\binom{k}{\ell}(-1)^{\ell} f(\ell) \Longleftrightarrow f(k)=\sum_{\ell=0}^{k}\binom{k}{\ell}(-1)^{\ell} g(\ell) .
$$

Applying this binomial inversion formula to (4) results in

$$
(-1)^{n} F^{n+1}(t)=\sum_{m=0}^{n}\binom{n}{m}(-1)^{m}(-1)^{m} \frac{(1+t)^{m}}{m!} F^{(m)}(t)
$$

which can be rewritten as (5). The proof of Theorem 1 is complete.

## 3. Remarks

Finally, we list several remarks on our main results and closely related things.

Remark 1. It is clear that the function $F(t)$ defined by (1) is $\frac{1}{t}$.
Remark 2. Comparing (2) with (5) reveals that

$$
a_{k}(n)=\frac{n!}{k!}\binom{n}{k}, \quad n \geq k \geq 0,
$$

which is simpler, more meaningful, and more significant than the expression (3).

Remark 3. This paper is a slightly modified version of the preprint [7].

Acknowledgements. The author is thankful to anonymous referees for their valuable comments on the original version of this paper.

## References

[1] Ch. A. Charalambides, Enumerative Combinatorics, CRC Press Series on Discrete Mathematics and its Applications, Chapman \& Hall/CRC, Boca Raton, FL, 2002.
[2] L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition, D. Reidel Publishing Co., Dordrecht and Boston, 1974.
[3] R. L. Graham, D. E. Knuth, and O. Patashnik, Concrete Mathematics-A Foundation for Computer Science, 2nd ed., Addison-Wesley Publishing Company, Reading, MA, 1994.
[4] B.-N. Guo and F. Qi, Explicit formulae for computing Euler polynomials in terms of Stirling numbers of the second kind, J. Comput. Appl. Math. 272 (2014), 251-257; Available online at https://doi.org/10.1016/j.cam.2014.05.018
[5] B.-N. Guo and F. Qi, Six proofs for an identity of the Lah numbers, Online J. Anal. Comb. 10 (2015), 5 pages.
[6] G.-W. Jang and T. Kim, Revisit of identities of Daehee numbers arising from nonlinear differential equations, Proc. Jangjeon Math. Soc. 20 (2017), no. 2, 163-177; Available online at https://doi.org/10.23001/pjms2017.20.2.163
[7] F. Qi, Simplifying coefficients in a family of nonlinear ordinary differential equations, ResearchGate Preprint (2017), available online at https://doi.org/10.13140/RG.2. 2.23328.07687.
[8] J. Quaintance and H. W. Gould, Combinatorial Identities for Stirling Numbers. The unpublished notes of H. W. Gould. With a foreword by George E. Andrews. World Scientific Publishing Co. Pte. Ltd., Singapore, 2016.
[9] A.-M. Xu and Z.-D. Cen, Some identities involving exponential functions and Stirling numbers and applications, J. Comput. Appl. Math. 260 (2014), 201-207; Available online at http://dx.doi.org/10.1016/j.cam.2013.09.077
[10] J.-L. Zhao, J.-L. Wang, and F. Qi, Derivative polynomials of a function related to the Apostol-Euler and Frobenius-Euler numbers, J. Nonlinear Sci. Appl. 10 (2017), no. 4, 1345-1349; Available online at https://doi.org/10.22436/jnsa.010.04.06

Institute of Mathematics, Henan Polytechnic University, Jiaozuo, Henan, 454010, China; College of Mathematics, Inner Mongolia University for Nationalities, Tongliao, Inner Mongolia, 028043, China; Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin, 300387, China

E-mail address: qifeng618@gmail.com, qifeng618@hotmail.com, qifeng618@qq.com
URL: https://qifeng618.wordpress.com


[^0]:    Received December 23, 2017.
    2010 Mathematics Subject Classification. Primary 34A05; Secondary 11A25; 11B73; 11B83.

    Key words and phrases. Simplifying; coefficient; nonlinear ordinary differential equation; Faá di Bruno formula; Stirling number; Bell polynomials of the second kind; binomial inversion formula; Lah number.
    http://dx.doi.org/10.12697/ACUTM.2018.22.24

